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NEW QUESTION 1
Which component of the Cisco SD-WAN architecture oversees the control plane of overlay network to establish, adjust, and maintain the connections that form the
Cisco SD-WAN fabric?

A. APIC-EM
B. vSmart
C. vManage
D. vBond

Answer: B

NEW QUESTION 2
Which two hardware platforms support Cisco I0S XE SD-WAN images? (Choose two.)

A. ISR4000 series

B. ISR9300 series

C. vEdge-1000 series
D. ASR9000 series
E. ASR1000 series

Answer: AE

NEW QUESTION 3

DRAG DROP

Drag and drop the devices from the left onto the correct functions on the right.
Select and Place:

A. Mastered
B. Not Mastered

Answer: A

NEW QUESTION 4
Which component of the Cisco SD-WAN control plane architecture should be located in a public Internet address space and facilitates NAT-traversal?

A. WAN Edge
B. vSmart

C. vBond

D. vManage

Answer: C

NEW QUESTION 5
Refer to the exhibit. What does the BFD value of 8 represent?

A. dead timer of BFD session

B. poll-interval of BFD session
C. hello timer of BFD session

D. number of BFD sessions

Answer: D

NEW QUESTION 6
What are the two advantages of deploying cloud-based Cisco SD-WAN controllers? (Choose two.)

A. centralized control and data plane
B. infrastructure as a service

C. management of SLA

D. centralized raid storage of data
E. distributed authentication policies

Answer: AC

NEW QUESTION 7

Which two platforms for the Cisco SD-WAN architecture are deployable in a hypervisor on-premises or in IAAS Cloud? (Choose two.)
A. CSR 1000v

B. ISR 4431

C. vEdge 100c

D. vEdge 2000

E. vEdge Cloud

Answer: AE
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NEW QUESTION 8
How is the scalability of the Manage increased in Cisco SD-WAN Fabric?

A. Increase the bandwidth of the WAN link connected to the vManage

B. Increase licensing on the vManage

C. Deploy more than one vManage controllers on different physical server
D. Deploy multiple vManage controllers in a cluster

Answer: D

NEW QUESTION 9
An engineer is troubleshooting a vEdge router and identifies a “DCONFAIL — DTLS connection failure” message. What is the problem?

A. memory issue

B. certificate mismatch
C. organization mismatch
D. connectivity issue

Answer: D

NEW QUESTION 10
Which two services are critical for zero touch provisioning on- boarding? (Choose two.)

A. EMAIL
B. SNMP
C. AAA
D. DHCP
E. DNS

Answer: DE

NEW QUESTION 10
On which device is a service FW address configured to insert firewall service at the hub?

A. vSmart at the branch
B. vEdge at the branch
C. vEdge at the hub
D. vSmart at the hub

Answer: C

NEW QUESTION 11

Which type of route advertisement of OMP can be verified?
A. Origin, TLOC, and VPN

B. Origin, TLOC, and service

C. OMP, VPN, and origin

D. OMP, TLOC, and service

Answer: D

NEW QUESTION 14
Refer to the exhibit. Which configuration change is needed to configure the tloc-extention on Branchl-Edgel? A.
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Answer: D

NEW QUESTION 16
Two sites have one WAN Edge each. Each WAN Edge has two public TLOCs with no restrict configured. There is full reachability between the TLOCs. How many
data tunnels are formed on each Edge router?
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Answer: A

NEW QUESTION 20
Which SD-WAN component is configured to enforce a policy to redirect branch-to-branch traffic toward a network service such as a firewall or IPS?

A. vBond

B. vSmart

C. WAN Edge
D. Firewall

Answer: B

NEW QUESTION 25

DRAG DROP

Drag and drop the actions from the left into the correct sequence on the right to create a data policy to direct traffic to the Internet exit.
Select and Place:

A. Mastered
B. Not Mastered

Answer: A

NEW QUESTION 29
Which policy configures an application-aware routing policy under
Configuration > Policies?

A. Data policy

B. Centralized policy
C. Localized policy
D. Control policy

Answer: A

NEW QUESTION 34

A voice packet requires a latency of 50 msec. Which policy is configured to ensure that a voice packet is always sent on the link with less than a 50 msec delay?
A. localized data

B. centralized control

C. localized control

D. centralized data

Answer: A

NEW QUESTION 39

DRAG DROP

Drag and drop the functions from the left onto the correct templates on the right.

A. Mastered
B. Not Mastered

Answer: A

NEW QUESTION 41

When VPNs are grouped to create destination zone, how many zones can a VPN be part of?
A. two

B. four

C. one

D. three

Answer: C

NEW QUESTION 44
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Which value is verified in the certificates to confirm the identity of the device?

A. Serial Number
B. OTP

C. System-IP

D. Chassis-ID

Answer: A

NEW QUESTION 48

Which hardware component is involved in the Cisco SD-WAN authentication process for ISR platforms?

A.ZTP
B. OTPC
C. SUDI
D. TPMD

Answer: C

NEW QUESTION 53

Which command disables the logging of syslog messages to the local disk?

A. no system logging disk local
B. system logging server remote
C. no system logging disk enable
D. system logging disk disable

Answer: C

NEW QUESTION 57

Which platforms are managed by a single vManage dashboard?
A. ISR4351, ASR1002HX, vEdge2000, vEdge Cloud

B. ISR4321, ASR1001, Nexus, ENCS

C. ISR4321, ASR1001, ENCS, ISRv

D. ISR4351, ASR1009, vEdge2000, CSR1000v

Answer: C

NEW QUESTION 58

Which pathway under Monitor > Network > Select Device is used to verify service insertion configuration?

A. System Status
B. Troubleshooting
C. Real Time

D. Events

Answer: B

NEW QUESTION 62
Which API call retrieves a list of all devices in the network?

A. https://lvmanage_IP_address/dataservice/system/device/{{model}}
B. http://vmanage_IP_address/dataservice/system/device/{{model}}

C. http://lvmanage_IP_address/api-call/system/device/{{model}}
D. https://lvmanage_IP_address/api-call/system/device/{{model}}

Answer: A

NEW QUESTION 65
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